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The following paragraph has not been 

edited.Write the incorrect word and 

its correction in the right columns:- 

                                          Incorrect Correct 

(a)A king reached a ashram.A 

                                               --------------    ------------ 

(b)sadhu is watering some plants.The 

                                               --------------   ------------- 

(c)sadhu saw that the king is tired. 

                                              ---------------  --------------- 

(d)He ran up to the king or gave  

                                              ----------------  ---------------- 

(e)him some fruits.On that time 



                                               --------------  ------------- 

(f)a wound man was brought to the 

ashram.               

                                                --------------  ------------- 

@@@ Write your answer the following 

way:- 

                       Incorrect.    Correct 

(a)               is                       was 

                    ----------                 ----------- 

(b)               men                  man 

                     --------------           ---------- 
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